Standard form for a quadratic relationship:
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What pattern did you notice from the

factoring you did on last night's
homework?

The two numbers in the binomials of the
factored form when added together were equal
to b, and when multiplied were equal to c.



Expand the following:

(dx + e)(fx + g)



La%2+bx+c‘\

(dx +6> (Ex+ ﬂ)
Aex"+ dgx+ efx + €4

What do we notice?
The the sum of the factors of "ac" is equal to "b".



Factoring Methods

"Box" or Factor by Grouping

axisox+C
Same for both methods!
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